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������  

 �	�
	�� 
��
	� ������  
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 �
���1 : !��" ��#��$�� �%� (D) ��&��� '��(� �����  C )* (D) 

���:  

; C(5,3)  
x = 3 + 

; IR
y = 2 - 

λ
λ

λ


∈


   a) (D) : 3x + 5y +m = 0 ; C(3,2)     b) (D)  

 �����2:    ��+���� �,���  :(Dm) : (2m-1)x + (3-m)y + m + 1 -��# �# 

 %%%� �
���! ��+���� .�# �� �/��!: x + y – 1 = 0  (∆)  

  

 �����3 :  0�1��� �
��2 	
3 4�(5(ABC)5 )* 0
(, .	.	.	 .��
�� :  

) 1 3
,

2 2
−);  C(

1 3
,

2 2
  A(-1,0);  B(   

 �����4:  )* 8 9������ ��� )* �
����� ��&��� �# �( ��4�$
:� 4�;� 

 9��� 9������ �
�
����� �
���;
��� �������� ��&��� .�# ��"
:           

1) A(1,2,2); B(3,-3,0); C(3,4,1); D(-2,3,1)  

2) A(-1,2,4); B(3,-3,0); C(1,3,4) ; D(5,1,-6)  

3) A(2,-1,0); B(0,-4,5); C(4,-3,3) ; D(-4,5,1)  

  

 �����5 :  9������ ������ ��#(P)%, <����� :  
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3 5 0

1 0

x y z

x y z

− − + =


+ + + =
 , (D')

3 0

2 0

x y z

x y

+ − + =


− − =
       2) (D) :  

3 0

4 2 0

x y z

x y z

+ − + =


− + =
1) A(4,1,-3) , (D): 

  

 �����6  : ���=� ���(�� )* 8 �
2���� �5 ����&�� �
����� ��
������ �#�!5 

>��&��� ��
,�:  

a) (P) : 5x-y-1 = 0, (P'): z = 3 

b) (P) : z = 1, (P') : x-y-2=0, (P'''): 4x-2y+z+2=0 

c) (P) : 3x-y+2z-5=0, (P'): x-y-3z-7=0, (P'''): 4x+2y-z+1 

  

 �����7:    	
&���� ������ 4�;5(D’) ��%, ?$�� : (-7,0,1) = u
�

 ��!�  

 ��A,8

59
�� 	
&����� ��  %,  <��� :      3 1

1

x y

z

+ =


=
 (D) :  

  

 �����8   : %� -��"��� 9������ 	
&����� ��$�� �!��" ��#: 

7 0

2 5

x y z

x y z

− + + =


+ − =
 (D'):                 2 3 0

2 2 2 0

x y z

x y z

+ + + =


+ − =
    (D)  

 �����9 :  ��&��� �,��� :  
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,0) ; D(0,0,2) C(-1,- 3,0) ;B(-1, 3                          A(3,0,0) ;  

.(ADC)  ∩  (ABC) : (D) 	
&����� ��$�� �!��" ��# :   

 �����10 : %, �
*����� �
�
&����� �;
�  :  

3

1

y x

z

=


=
     (D) :   � 

1

2 1

x z

y z

= −


= +
(D') :  

•  �

������ �
(� )+��1 ��$� �
,((P),(P'))0
(, :  

P', P//P'  ∈P, D'∈. D  

•  %� �
���;
��� �������� 4�;5 	1: (P) �(P').   

 �����11 :  %, �
*����� �
�
&����� �;
�  :  

2 1

2 1

y x

z x

= +


= −
       (D):   �2y x

z x

= +


=
(D'): .    

•  %� �
2����� ���
&����� �; �!5 :(xoy) %� ����&���  :(zz'), (D) 

(D'). 

 �����12 : %, �*����� ���
&����� �;��  

-

x a

y a

=


=
 , (D3) y a

z a

=


= −
, (D2)   z a

x a

=


= −
(D1)   0
(,  :a > 0.   

 �;
�M(a,-a,λ).   
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•  	
&����� �B��� ���$ 4�;5(D') �� ����� M %� >��3� : 

(D2) �   (D1).  

•  �;
�D''(O,(1,1,1)) .  ��#�(D',D'') cos�  d(D'D'').  

•  <�! ∆ %� -��"��� 9������ 	
&����� :(D')� (D'') . 

• �;
�∆ ∩D'= N     . � �,;�� �
!N. 

• �
, :  ���λ  %* C�
D�
   �EN      �%,�1 9���%� )* �&��
 .    -%�� �
%!

9������. 

  

 �����13 :  %, <����� 	
&����� �;
� :  

2 1 0

0

x y z

x y z

+ + − =


− + =
 (D)= .  4�(5d(D,(oz)).  

 

 �����5 :  %� �
��2�� ���/�� �B��� 4�;5 :  

(D) : 5x-12y+7=0   �(D') : 3x+y-7=0. 

 �����14:  �;
�   (P) : ax+by+cz+d=0;  � 1

1

x z

y z

= −


= +
;  (D3) :   
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1 2

1 2

x z

y z

= −


= +
(D2) :  

;
0

0

x y

z

+ =


=
(D1) :  

•       ��! 	2B� )*�; ��" �$�5 :3x∗R R∈((a,b,c),d)     >%�&
 �%�( C

  9������(P)   ���
&����� ((D1),(D2),(D3))       �%�! ��%;� ��&� )* 


�
(� ���&��� .  

 �����15 : %, ��*����� ���
&����� �;
�  : 

1

2 0

x y z

x y z

+ + =


− − =
  (D) :  �(D') : 6x=2y=3z 

9�������         (P) : x+3y+2z=6 .  

 ��&�� ���*(D) ��! (P) %� �F
2���  :(D').  

 �����16 : �;
�  ,*����� �
�
&�����%, � : 

0

3 1 0

x z a

y z

− − =


+ + =
  (D) :  � 2 2 0

3 3 2 7 0

x y z b

x y z

+ + − =


+ + − =
(D') :  � (a,b) �� IR

2.   

• 8 ��
2���� ���
&����� �# 
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•       ��! ��2B� �
*�; ���" �$�5(a,b)   �
���&�� ��;
 ��(  .    .�%# )%*

�
�
&����� -�� �� ��;��� 9������ �
���;
��� �������� 4�;5 ���(�� .  

  �����17:  G
,���� 
2
���� �/������ ��
,� �$�5f  �� <����� IR
3�(�    

IR
3  %%,: 

' 19 18 44 12

 ' 10  3 22 6

 ' 10 4 23 6

 

x x y z

y x y z

z x y z

= − + + −


= − − +
 = − − + −

    � 
2 ' 5 3 2 3

 2 ' 3  2 1

 2 ' 6 6 2 6

 

x x y z

y x y z

z x y z

= − − + −


= + − −
 = − − + −

  

 �����18 :  �
����� ��&��� �,���:  

A(3,1,0), B(1,2,1), C0,2,0), D(1,1,3), A'(4,0,2), B'(1,3,2), 

C'(1,1,1), D'(-1,3,1). 

�� )*	���)   k
�

,j
�

, i
�

 (A;$�5 %,���� �%��� G
�%(
 9��� )��% ��

���,% 4
��A, B, C, D  ��� A', B', C', D'. 

 �����19 :� 
 G
,���� �; f�
����� ��������, <�����  : 

3 1
' 1

2 2

1 3
2

2 2

x x y

y x y


= − −




= − + +
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�$�5
2
���� .�/��!� G
,���� ��# ��
,� .  

 �����20 :   �%� 
����� 
�+���� ������ �! 0(,5A(2,-2)   �%�2(�� �%�� 

 �
��+����, �*�����: 

C1 = x
2
 + y

2
 – 1 =0  �   C2 = x

2
 + y

2
 +2x = 0  

 �����21:   ����&��� �,���A(a1,a2), B(b1,b2)   )*  )j
�

, i
�

IR
2
;   ( 4�;5

 �#��3 )��� 
�+���� ������[AB]. 

 �����22:   ��&��� �;��A(x0, y0) � ��,�1 (Dm) ?�
� 	
&��� m�
 %�� � 

) A(x0, y0   �;���C(O,R) 0(, 
�+�� O(a,b) � R>0.   

•  �5 �
,: 

Dm 
�+���� ���� C  ⇔ m ������ G&(
     4%��
 �%
��1�� �$���� �� 

���

��. 

•  ��� �,����, �������� .�# ���( I3��m  

 )* �,���)j
�

, i
�

IR
2
;  (    �%�1� �%�1� �%���� �
����� ��&��� C :M(x0,y0), 

O'(a',b'), O(a,b) �;���  C, C' ��&���, �
������ �
��+���� M .   
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 4�(5')JCos (MO, MO   ���+��%�� ��%;� )%;� ��"�� K����5� �  C, C' 

�
�������.  

  �����23:   �;��C(O)� 
�+�� O�#2;��   �;
�� [AB]� ���� I  �%�&��� 

  ����� -��� ��/���� .�,���[MN]      %� ��5 ����  C     ��&��� �� ��
 I . �,����

 %� �������C �� ������ M, N %� �����3� [AB] ��! P  �  Q.  

•  �
�
��2�� �5 �
,OPI〈 �   OQI〈�
�
����� . 

• ��, K����5 :IP = IQ �5 	1   :AP = BQ  

����� 24  : G
,���� �;�� f �� <�����C �(� C �
����� ��������,  :  

f(z) = (1+i)z+i  

��
,� <
�!  .f  

 �����25:  )*  	 	�����%, ��2%��� '������ .	.	 .) k
�

,j
�

, i
�

; (O  <�%�� 

 )����� G
,����: 

(x+2y-1))
1

5
(-2x+y+2), 

1

5
( f(x,y) =  
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•  ��,;�� �! 0(,5) k'
��

,j'
�

, i'
�

; (O' 
��/ ) k
�

,j
�

, i
�

; (O   �%!

G
,���� G
��  f.  

•  ��
,� )# ��f.  

 �����26 :  >,���� ���5f  %%%, <L�����  : 2(ln )
1

x
x

x+
       b) f(x)= 

23 ( 6)x x −a) f(x) =    

 �����27  : 	��5Γ ��
, f%%, <�����  :  
3

1

x

t
e dt

−∫. f(x) = -x +    

 �����28  :  �;
�a,b,c,d �� IR 0
(, c≠0� ad-bc≠0 � 
x

x

ae b
y

ce d

+
=

+
 

 (Γ):  �#(Γ)2;�� ?� ��� �M  N
(%/ 4��%$�� ��; �� ���( )*  8 , 4%�;5 

 %��,;��)	#.(  

 ����� 29 : �$�5� <����� ��&� )�
���� )�(���:   

)
2

1t

t

−
,

3

1t

t

+(  

��$�5� <����� ��&� 	1 
�&����� �&��� )�
���� )�(��� :  

)1
t

t
+,2 2

t
t

+(  
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�
!�� ��!������ ��&���� 
�&����� ��&��� )�
���� )�(���:    

, ln(1+t
2
))

2

3
(
1

t

t t+ −
  

 �����30 :  �
D���� <�(,t�
�������� �
, C ���3=� <�! ))�(���� (

 �
����� �
�
����: 

4

4

cos

sin

x a t

y b t

 =


=
   b)

sin 2cos

cos 2sin

x t t

y t t

= +


= +
a)  

 

 �����31 : �
����� �
�
���� ���3=� ���5:     

1

1

( )

( )

t
t

t
t

x t e

y t e

+

−


=


 =

      d) 
3

2 4

( )

( )

x t t t

y t t t

 = −


= −
       c)

2

2 2

2
( )

1

4(1 2 )
( )

(1 )

t
x t

t

t
y t

t


= +


− =

+

      b) 

2

2

1
( )

2

2 1
( )

t
x t

t

t
y t

t

 +
=


− =



a)  

  �����32 : �;
� ]∞ I = [-1;+� IR
2
  →f : I%, <����� G
,����  :  

2 2

2 2

1 1
( , )
1 1

t t

t t

− −

+ +
I, f(t) =  ∈t ∀ 
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•  	��5f. 

•  �5 �
,f �,�&� � �� �����I �(� f(I)C �5 �
P �
P )�;��� G
,���� 

�����.  

  �����33  : ��(���� 	��5G%, <����� :   

2( ) (1 )

( ) 2(1 )

t

t

x t t e

y t t e

 = −


= −  

  �� ��&� �; )* �
�(���� ��/���� 4�(5 	1G ��Q, C G �� ��&� 5�,�;

 %� �,������t=1.  

 ����� 4�(5  L  %%� �&�(��G)  ��$��� ��! ���;� �����5] [,1−∞.(  

 �����34 :  
�+���� �;��)(C 	 	��� )* .	.	  . �#2;��)0,1(Ω  </��

 �#��31− ��&��� �;��� )2,3(−A.  

1 ( 
�+���� ������ �$�� �#)(C ��&��� ��"� )2,3(−A.  

2 ( 
�+���� ������ �$�5)(C ���
� )��� 1.  

 

35 .  �
��&��� �;��),( 21 aaA � ),( 21 bbB 9�
�3=� )������ 9������ �� .  
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 �#��3 )��� 
�+���� ������ �
!AB.  

36  . �;��),( 000 yxM � ��,1� ��&� mD ?�
� 	
&��� m %, ��
� 0M.  

  1 . ��;
 ��( C�5 ��! �#�,mD ��� 
���� 
�+��� ����� 

2;��),( baΩ�#��3 </�� r G&(
 �5 )�;
� 	2�
 Cm �$���� �� ������ 

 ���

�� 4��
 �
��1�������( �"3����.  

  2 .
�+���� �
������ �
���� �

�� ���� �;�
 )��� �&��� �
!.  

37 . �&��� �;��)0,0,(aA � )0,,0( bB � ),0,0( cA	 	��� )*  .	.	 .�
!r 

 0�1��� ����( 	������ 
�+���� ��3 </�ABC ��B�, cba ,,.  

38 .1 .  ��&��� C9�
�3=� )������ 9������ )* C�;��),( 000 yxM � ),( baΩ 

 �)','(' baΩ������ .  

 �
��+���� )������ 4�;5)(C)  )������ ��!)'(C ( %, �
������0M.  

2 . 4�(5)',cos( ΩΩ MM ��;� );� ��"�� K����� C)(C� )'(C 

�
�������.  

3 .  )������ �,��;,)(C� )'(C �;"�� ��! :  
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02222 =+−−+ cbyaxyx     )(C  

0''2'222 =+−−+ cybxayx   )'(C  

 ��"�� �! �,!)2 ( ������� ��B�,',',',,, cbacba.  

39 . 
�+���� ������ 4�;5)(C �
����� 0R1�� �&��� ��"� )���  :  

)1,0(A � )5,0(B � )0,1(−C  

1.  5�,��� �5 G&(�O 
�+���� ���� )(C.  

2.  ��"
 9��� 	
&����� ������ 4�;5O 
�+���� >�&
 )(C �
��&� )* 

'M� ''M ��;� 0
(, O ���&�� </��� [ ]"'MM )�1��(5 �
! C

 �
��&��� �� �;'M� ''M. 

3.  �
��&��� �
!'N� ''N 
�+���� �� )(C �
������ R
� ��;
 ��( 

 
�+����)(C )* 'N� ''N �

���� 1−. 
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 ���! >
����)S���; �
�!5(  

 �����	�1.  

 �����	�  

 ��;
�iA� i=1,2 %%, �*���   :  

  2

3 1 6
1

A 1 3 6
4

6 6 2

 
 

= − − 
 
 − 

     3
1

1
1 1

2

1
A 2 1 0

2

1 0 2

 
 
 
 =  
 
  
 

  

1�  ���� ����iA i=1,2  

2T  �
!i0 )���� G
,���� ��;
 ��( 
0i

f %, �,����� 
0i

A��
�&�  . )# ��

 ��
,�
0i

f� 8  U+�/� ��# 
0i

f 

3T  �;��)1Π (�&��� �!��$�� %%, 
���/�� 
0i

f�  )2Π ( ����� 	
&�����

 ��)0,0,0 ( %%, ?$�� �v
�) = 0,1,1( 

�
&����� )������ 4�;�  %%� �
�/���� �
)1Π ( �)2Π.(  
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�� ��Q��:  

 �;
�( )Γ �
���� �
1����, �1���� )��
,�� )�(����   ) 

     ( )
( )

( )

x t =2cos(t)+cos(2t)
f t =

y t =2sin(t)-sin(2t)





  

1.  �
���� ��$��� �!5 ������f�
����� >� .  

2. ,15 � �5    : 

( )
( ) ( )

( ) ( )( )

x t =-2sint 1+2cost
f t =

y t =2 1-cost 1+2cost

′
′ 

′
  

 f        ���
��,� �

�� 4��
 �
��&��� �
��&�   �!5 	1     ���%
D� ���$ f 

 �5 K����� %%�  

3.  )�(���� 	��5( )Γ.  

4.  �;
�R 9��� �������  ?�
��22π

3
 � 5�,��� .2;�� O.  

aT  ������� �*��/� 4�;5R 	����� )* ( )O,i,j
��

. 
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bT  �;
�( )Γ′ 
��/ ( )Γ �������, R � g�� �
1����  ?� )�
��

  . �5 �,15  

( )
( )

( )

2π 2π
u t =2cos +t +cos2 +t

3 3
g t =

2π 2π
v t =2sin +t -sin2 +t

3 3

    
   

    


   
       

  

      �!  ��&�   ( )Γ ?�5      �������, ���/ R �
%�� �

D� �$�  ���  )  ψ  

 G&(
( ) ( )( )g t =f ψ t .  

  �5 K�����( )Γ �������,  ���/ R.   

-c    �,����,  ?$������ �;�
 ���� �� ��� ���
��  f8   

5. � �
�(���� ��/���� 4�(�% f �� ��&��� 5�,�; ��Q, ( )Γ%, �&*���� 

t=0  

)  �5 M(B :a 3a a
2cos(a)sin( )=sin( )-sin( )

2 2 2
(   

 4�(� L ��� ( )Γ  �5 ���! ��� 13LL =  0
(  C 1L ���  �#  

 �� ��&��( )Γ  �
��&���, ��(���  ( )0,3 C 









−

2

33
,

2

3.  
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�	� ����2.  

 ��=� �
�����:   �;
�m %, 2��� C���� �
&
&( ���! mC ��&��� �!��$�� 

 �
���;
��� �������� G&(� )���: 

0422 =−+ xymx  

1.  	
3 �
!m ��$� )��� mC �/3�� ���3 .  

2. 	��5 2C � ������ 	��� )* ?$��� ��$���),,( jiO
��

?/+�/� �!5� C. 

  

 )��1�� �
�����   : �;
�*
IRa ∈ )�(����� )��&�� ( )�
���� f T .����Γ T 

 %,  <����� 

))cos1(),sin((),()( tattayxtf −−==  

1.  �
!S ��! �
�
���� ��/���� Γ.   

2.  �� ��&�� ��� 4�(5t = 0 ��� t = 2π. 

  

�	�
	� �����	�  :  �;
�f )�(���� )��&�� ( )�
���� )*2IR %, ������  
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))
1

,
2

(),()(
2

22

t
t

t
tyxtf ++== 

1.  ���
D� ���$ �!5)(tx� )(ty.  

2.  �;" �
!Γ – ����  fT ��&��� ���$ )*  f(1). 

3.  %� �,��&��� ������ �
!Γ �
��� ��(�   Γ�� �,����, ������ .�. 

4.  �5 �
,(5, 6) �$��2� ��&� )��!���.( 

5.  	��5Γ�
����� �� W",  . 

  

����	� �����	� : ?$��� ��$���� ������ 	��� )* C�;
�( )kjiO
���

,,,���
&����� C:  





=

=

1

0
1

y

x
D   C





=

=

1

0
2

z

y
D   C 





=

=

1

0
3

x

z
D  

1 .   ���
&����� �; �
!D           ���
&����� >� >��&��  )���    �� 1D  �  2D    �   

3D.  

2 .        9������ �&���� ��;"��� ��&� �!��$� �
!H    %�  O     	
&��%��� �%�! 

D. 
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 �����	�3  

���� �����	� : 	 	��� )* �,��� .	 . �

������ C	)P ( �(Q) �
��������, ��*���   

(P) : 2x – 3y + z – 4 = 0 

(Q) : 2x + y – z +1 = 0 

 �;���A ���
1��(� ��&� (-3, 1, -1) �;
�� (R) ��&��� ��"
 9��� 9������ A 

 �� �; ��! �������)P ( �(Q).  

1. �" �
! �
!�U
�

� V
�



���! � ��! )P ( �(Q) 4�(5 C)������ ��! 

 �+��!UV
��

∧ . �� K����� 	1)P    ( �(Q)�

2���� �
P .  

2. �5 ��! �#�,UV
��

∧ �

������ �
, -��"��� 	
&����� ?$���� X��"�� �#  

)P ( �(Q). 

3.  9������ �
���;
��� �������� �
!(R). 

 


��
	� �����	�  :  �

������ �
�;�"��� �;
�T1� T2 )*3IR ���%�*��/�� M1 �  

M2 )����&�� ��%%�=�    (i, j, k,) )�
 ��; �
*����  C:  
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



















−

−=

013

13

33

2

1

1 2
3

2

22
1

M         C 













−−

−

=

481

744

418

9

1

2
M  

1.  �5 �
,M1�  M2 �
������� .  

2. �!��$��� �$�5  �� �;� ��,�1��T1� . T2  

3.   �� �; ��
,� K�����T1�  T2 ����� �; U+�/� �!5� C  . 

 

 �	�
	� �����	� : 	 	��� )* �,���.	. C	(P) ��! 9������ 9������ 

X��"��( )2,1,1V
�

 ��&���, ��
� A=(1,2, 2).  

   	
&����� �;
��( ) ( )( )0,1,1,1,1,1 111 UAD
�

=  �( )3,2,10 =M.  

1.  �� �;� �
���;
��� �������� 4�;5( ) ( )PD ,1.  

2. 	
&����� �B���� �; �$�5( )UBD
�

, 0
(, ( )PD // �ODD ≠∩ 1 

�3( ) 10,0 =DMd. 

 ���! �5 

( )
U

BMU
DMd �

�

0

0 ,
∧

=.  
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 ����	� �����	� :    %,    <����� 	
&����� �;
� 

( )




=−+

=++−

02

023

zyx

zyx
D  

1. 	
&����� �
����� �������� 4�;5))  w
�

.( D(A,   

2.  ��&��� 9������ �&���� ��&� �
! A 9������ ��!(P) ?������ 9��� x + 

3y + z = 0. 

3. ���� K����� 9������ �&���� �
���;
��� ����(D1) 	
&����� (D) ��! (P). 

 

 �����	�4   

 ���� �����	�:   �;
�2* )(),( +∈ IRma
�
&������ �%,    )* �
*����� .  

( )




=

=

az

mxy
D1 �  ( )





−=

−=

az

mxy
D2  

 >� >��&�� )��� ���
&����� �; �
!( )1D�  ( )2D
��2�� ��� ��!� �. 

 


��
	� �����	�  : )��� 
�;�� >��&� �! �$����� 
�+���� �
���;
��� �������� �
!

 ��������:  
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 05642222 =+−−−++ zyxzyx  

 ?������ 9��� 9�������  :0422 =−−+ zyx.  

    

�	�
	� �����	�  : :"��� �;
�%����� �;�% )� T *)3IR ?%�*��/�� M   )* 

)����&�� ��%%�=� (i, j, k,) )�
 ��; �*��� C:  





















−

−=

013

13

33

2

1

2
3

2

22
1

M          

4. �5 �
, M 
������ .  

5. �!��$��� �$�5 %� ��,�1��. T  

6.  ��
,� K�����T /+�/� �!5�  ��  . 

  

����	� �����	� : �;
�*
IRa ∈ )�(����� )��&�� ( )�
���� f .���� Γ 

 %, <����� 
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)2coscos2,2sinsin2(),()( tatatatayxtf +−==  

3. �5 �
,)3cos1(4 2222 taayx ++=+. 	1 ������ �5 K����5Γ >&
 

 �
��+���� �
, :222 ayx =+ )( 1C �222 9ayx =+ )( 2C �
! 	1 C

)( 2 Γ∩C  � )( 1 Γ∩C. 

4.  ������ �5 �
,Γ ?�5� ��
1��(:� 9��(� �(5 ��� �,����, �M���� 

 ����� ��/�3� �;�
f ��$��� ��! [ ]π,0.  

5.  ���
D� ���$ �!5 x(t) � y(t)  ��$��� ��! [ ]π,0 ����� �
! C

Γ 	
&�� �$5 ��  :π
ππ

,
3

2
,

3
,0=t ������ �;" �
! 	1 CΓ )*  

 ��&��� ���$)
3

2
(

π
f. 

6.  ������ 	��5Γ  . 

7.  ������ ��� 4�(5Γ .  
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